mi#mk%t+£%$§ﬁ£m%i%ﬁﬁ%
FH8 B Y & [AEH] w25 5 ] x

— TRAEXMELEHS S (principle component analysis) 4
BB F o S (eigenvalue) AR 1# B % BB AP Rk
(varimax method) # i 69 & SR B £ D L RIS & -

248 BEA#E A EME

, AL | RUWAE (35 g (wnmunalil-y
QAEHABAAY - HEEHRMMEELH - (RS) 0.807, 0.155/7.344E-0 0.584
T AE TN R HAREREAFEBME - (RS) 0.698) 0.225| -0.184 0,590
RS S EER TS ARNA - (RS) 0.679 0.208] 0.287 0,480
B AREASERRME  BELHHESTF - (RS) 0.585(6.249£-02]  0.501 0.526
REK¥BEUREARHFEILHTERR . (RS 0.567{8.534E-02| 0,329 0.510)
SHANARMFARTRERMETE - (RS) 0.512|2.847E-02]  0.468 0.692
AHTEMNRG LA FRERNETIEARERE - |-7.143E-0 0.669; -0.181 0.571
5. S A AR F 6 Fo A Ak EALE I Hdad - 0.227 0.628] 0.253 0.530
10.80BFEE AWM B TAM BFAR PN 0.298 0.625| 0.364 0.681
AR TE  AABELREGH IR TR - - 0.126 0.599] 0.440 0.613
DA EHAY - AW TR e ey T g 0,307 0.557| 0.431 0.586
BAARME  EHEXFUHBEOHES - 0.330 0.547]  0.348 0.437]
VTRBMEMG BGOSR N - 5.453E-0 0.219]  0.730, 0.516
IR R L S LY 0.148 0.178(  0.680 0.568
S H ALY —HF  BBEIALE 0.213 0.557] 0.580 0.597|

| #ma (eigenvalue) 2950 | 2762 | 2760

AMIEE R ¥(%) 19.727 | 18.416 | 18.403

RO R (%) 19.727 | 38.142 | 56.545

&4 ® Cronbach's o 0.795 0798 | 0716

Ww¥k Cronbach's o . 0.881

(M) LR FA—EEHAM R BB HARE - (5%)

(EMTH S HE P TR RN ? TSR AR ES? (5%)

(Z)8 # 24 2 Ands 45 4L (initial eigenvalue) - w74 (337) 454
HRGEB)BEERERT K2 AHE? (5%)

(w9) B F 24 2 4046 £ B4 (initial communality) - ik (3A7) #
I () AR N R T~ 0 A48 7 (5%)

(&) Cronbach's a it BEAHZAE » & &AM ik 5
HREE G Kf— @A E T Cronbach’s a &
BERTAE  GREAAEETHIROHE? (5%)
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= A BRI TR 0 SR (BRBA) - B RGT R
K SOl RAREME R ZMES - HAOH RS- NAR
B AR EZE N ERAFRESANR I EZBMEC AT G
AAFMAFAHBEME? (15%)

Z o BN AREERT 439 36 TR R0+ (309%)
1.5 % 47 (research proposition)

2.5t %% (research hypothesis)

3.3 #1458 (controlf variable)

4.9 418 (mediating variable)

5.F# % E (moderating variable)

v SRR T A% 0 3 TR W - (30%)
1.5%# & (level of analysis)

2.4 & (concept)

3.i% #2(deductive)

4.8 & (inductive)

5./ % 34 A (content validity)
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Questions: (Please Answer in English)

Why is it uselul lor a manager to undérsmnd group behavior? Why is it uselul for an

' employee? (14%) .

—

~ A SR O T N I

. Do you agree (hat a certain degree of slress is necessary to individual high energy and

molivation? (7%)

. Why does it make sense o discuss several different models of decision making? (7%)
. Cite cxample base on a prolessor-stucent refationship to illustrate each of the five

bases ol organizalional power? (7%)

' J,TSEﬁrlfﬂa’éﬂﬁfb‘élitl'lﬁﬂ’lﬁﬁﬁiéﬁﬁﬁﬁﬂﬁ: 7(305})

i

ARETFIRRA o T RIS B RS | 0 le
BERERLR MG~ E B AR i (Resource-Base theory)

A S B 4E J1 (Dynamic Capability) &) g ekt = - (357}\)

e e e et Ao et et = e oo






